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Guess Paper 2011
Class- XII
Subject – Mathematics
Time3 hrs                            





Max. Marks–100

Roll NO.

                     
     
General instructions 

1. Paper consists of 3 sections A,B and C.

Section A contains 10 Questions of 1 mark each

Section B contains 12 Questions of 4 marks each

Section C contains 7 Questions of 6 marks each

2. All questions are compulsory. Do all questions in serial order otherwise there will be a deduction of 2 marks in total as penalty.  
Section A

1. What is the value of tan (  cos 
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2. Construct a 2x2 matrix, A = [ai j ] whose elements are given by  aij=
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3. If  a  is a unit vector and    ( x - a ). (x + a ) = 8 then find | x |

4.  Evaluate   
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5. Find the direction cosine of the line which is perpendicular to lines whose direction cosine are proportional to   1, -2, -2 and 0, 2, 1  .

6. Evaluate : 
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7. Evaluate : 
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8. Show that the elements on the main diagonal of a skew symmetric matrix are all zeros

9. Show that  the vectors , 3i + j + 2k and   i - j –k  are   perpendicular..    

10.  If  *  be  a  binary operation defined  by     x  *  y =    x -  y    then find the value of   (5 * 3 ) * 1  .       

SECTION B

11.  Prove that, tan
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              Prove that ,  2 tan 
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12.  Evaluate, 
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13.  Solve the differential equation , cos
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14. If A=Q X Q and let * be a  binary operation on A defined  by (a x b )*(c x d)  = (ac,ad+b) then find  

(i) the identity element of ( A,*)  (ii ) the invertible element of  (A, *).

15.  Show that         
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 Prove the following identity
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16.  For the curve  = 4x3 – 2x5, find all the points at which the tangent passes through origin
17.  Evaluate 
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18. Solve  the differential equation ,(x
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given that y =1,when x= 1.

19. If  p and q are unit vectors forming an angle 30
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,find the area of the parallelogram having a =  p + 2q,   b =2p + q  as its diagonals.

20. Find the equation of the perpendicular from the point (3,-1,11 ) to the line 
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Also find the foot of the perpendicular and length of the perpendicular.

21. The probability of A hitting a target is 4/5 and that of B hitting it is 2/3. They both fire at the target .find the probability that (i) At least one of them will hit the target (ii)Only one of them will hit the target.

22. If  y =
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                Given that   cos
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Show that 
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SECTION ‘ C’

23. Using matrix method solve the following system of the equations x+2y-3z = -4,   2x+3y+2z =2,     3x-3y-4z =11.

                                                                             OR

Find out A
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 by elementary row transformation if A =
[image: image33.wmf]ú

ú

ú

û

ù

ê

ê

ê

ë

é

-

-

-

-

0

5

3

1

0

2

2

1

3


24. A card from a pack of 52 cards is lost. From the remaining cards of the pack two cards are drawn and are found to be hearts. Find the probability of the missing card to be a heart.
25.  A square tank of capacity 250 cubic meters has to be dug out. The cot of the land is Rs 50 per square metre. The cost of digging increases with the depth and for the whoe tank it is 400 X h2, where h is the depth of the tank. What should be the dimension of the tank o that the cost be minimum?
26. Evaluate :    
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27.  Find the area of the region 
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Evaluate 
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        as limit as the sum.

28.  Show that the lines 
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and 3x-2y+z+5=0=2x+3y+4z-4 intersect. Find the equation of plane in which they lie and also their point of intersection.

29.  Kellogg is a new cereal   formed of a  mixture of barn and rice that contain at least  88 gram of protein and 36 milligram of iron .knowing that barn contain 80 gram of protein and 40 milligram of iron per kg and that rice contain 100 gram of protein and 30milligram of iron per kg , find the minimum cost of producing  this new cereal if bran cost Rs 5 per kg and rice cost Rs 4 per kg.
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